\

R7.5.22

~ L=
— J NN 18 £ ( ) o
R 7 L A 1T 6 H A2 B
B | 8 BITFAY =R BITTA Y FAEE |(FoELFE| BEEF - BERE| RBREE |[ossr zxen| FRPREZ TNREFE
'XZU%E'T? w " AvEVN T L7RT . R RE] N
BE e 6] A A e |ogae | CERRR | mims | BT | e | TRIERS
2 | B A 17 | % B e
; BEEY
3| % B 18 | x« A *
A %
4 | K L 19 [ K B
3 ki ;f” hE% L) z!ﬁ I(lf) *13:15 013:20 ol13:15 Ol13:15 0O13:20 O% 13:20 013:20
2 kY 72 -_—
S * HEER (34 MERL) 0| ® A 7 T
6 | & A 2 |+ ¢ %
4 ‘ -
HERTHEE 1 rEEL) BARE *16:30 016:35 016:30 0O16:30 016:35 O%16:35 016:35
71 C 22| B8 # B8
A
8 | B 23 SEIATEZICL Y, TREBOZENHY 7. (O=%#/32 - k=@ 2)
ke A k% ERMERE .4 RO % HH
9| A A 24 | & B E2. —BISTAEHNAE (AT—2) H2Bo. BREORENBNIBENHY 7,
10| X B 25 | K A SFEINZICEETLIRIE. YRINDERICTHAHLEI W,
THES A 2 | & B
12 | & B 27| & A
T
13| 2 28 | + .
= - A ErgE
i ﬁ
| + = TEAT 29 | B
G-TECIR = /S4B & ‘*DE
15| B 30 | A
R R
[TRNH/NNR (FRKHR) ]
O A-XK-&=AEf (17:00,05)
O X% = BiE4T (16:00,05 ¥ 17:50,55) O R h{ARY = DEFT (12;45,50)
O+ = C3E4T (I13:15,20 ¥ 16:15,20) O TEEZE = BI&EHT
[+4 FE)

BEfRG/ EEREE (KER) XEe2-IWN AR AL RETLE

O A -K-& = AEFT (18:30)

®6/4 (K) ~6/6 (&) AERIBEFIILAEARLEY

RPRE (RRRE) XLr-WN AR AHFETTE

O A -K-& = AETT (18:30)

®6/4 (K) ~6/6 (&) hERMMPIILAERL T




